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If ‘signs’ are Torah law — RNIMIRT 1°12°0 ON

Overview

The X3 relates that they returned a vi to 77 92 92 7127, when he said, ‘I can
recognize this lost 03, or I can give a 12°0 for this lost v3’; However he was not sure
whether they returned the v) to him on account of his j12°0, for the rule is 7°12°0
XN*7KT or they returned in on account of his 1Y Ny v in the va.
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A v will also be returned when one gives 712°0, if we maintain XN X7 %3120 -
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However if 19170 is 31397, the reason a lost object is returned with a regular 329,

not an outstanding 71°0, is 33977 -
- 39791 151 72 1PONT OIUN

For the °p27 of 7''2 is a valid po7 -
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However 7077 32 it would require either witnesses or an outstanding 320 in

order to return an 77°2X -
$PN29 12502 KON 19997110 KD EXIN 9IDINT 919 VN

And by v3 as well, which is an 91938, therefore if we maintain 131277 7°12°0, it will
not be returned unless there is a Pr72% 3299 (even 11277).

Summary
If Xn>7IRT 1°19°0, we return even a vl with 1°12°0; however if 11277 1°12°0 we return a

! Returning a 3 (which involves the serious M0°X of WX NWX) with a 12°0, has more serious ramifications than returning
an 77°aX (which is ‘merely’ a monetary issue [where we can also apply the ruling of 7571 7"°2 7p517]). Nevertheless if
we maintain XN*7IRT 112°0, we will return even a v with (regular) 1°11°0, and not necessarily only with a pr2w 12°0.
2 If we maintain 13277 P12°0, this means that 7707 12, giving a 12°0 on an item does not prove ownership of this item
(for it is possible that it may belong to another person who has the same item with the same 720, or that you acquired
the knowledge of this 12°0 unlawfully, etc.). The question (which nm»o1n addresses) is how do we return an 7728 with
‘just’ a ‘regular’ y2°0, since a 1°0 is not a definitive proof of ownership; perhaps it belongs to someone else.
3 Even if the claimant is not the rightful owner, nevertheless 7"2 has the power (of 7p57 7"2 7p57) to remove the
ownership of this item from its rightful owner and transfer it to someone else. See later on 2,72 (and "~ there 7"
*277) why the 1127 instituted the enactment of 2po7 7"2 77577 by A7°2K.
4 Presumably this means that the 0>7v recognize (with a Py ny>av) that this item belongs to the claimant. See ‘Thinking
it over’.
5 A pmam 10 is so precise that it is virtually impossible that it belongs to someone else. It is considered a definitive
proof.
¢ The rational of 9p577 7"°2 7po71 cannot apply by a va which involves the WX nwX 0K, therefore it will not be returned
unless a P2 j2°0 is presented. See ‘Thinking it over’.
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v3 only with a P72 12°0 (and an 772X with a regular 12°0 for 577 72 pPo).

Thinking it over

MooIN writes that (if we maintain 131277 7°32°0) we would not return an 7707 12 77°2R,
unless there are 0°7v, or a P72 12°0.7 Later mpoin writes that also by a b3 we return
it only with a P21 12°0.% However maoin does not mention returning it with 0”7y by
a v3; are we to understand that a va is returned only with a 212 12°0, but not with
o7y?!

7 See footnote # 4.
8 See footnote # 6.
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